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Answer any Two question from PartA And one question from Part B
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Part A
a) Calculate the reactions at the support of a Three hinged parabolic arch shown 4]  co2 13
in Fig.1(a).
b) Calculate the reactions at the support of a Three hinged parabolic arch shown  [16] | CO2 | L3
in Fig.1(b).Also find the Maximum bending moment at the section where it

OCcCurs.
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a) Calculate the reactions at the support of a Three hinged parabolic arch shown  [4] | CO2 L3
in Fig.2(a).

b) Calculate the reactions at the support of a Three hinged parabolic arch shown [16] CO2 L3
in Fig.2(b).Also find the Maximum bending moment at the section where it

occurs.
J6KN/m
fkl/\ 60 KN
TN fﬂ\fﬁ\fﬁ\fﬁ4§
h=6m
A — — — —— — — — —B
Im

L=36m L=24m

Fig.2(a) Fig.2(b)



a) A three hinged parabolic arch of 20m symmetrical span and 5m rise, carries [16] | CO3
a UDL of 40 kN/m on the entire span and a point load of 200 kN at 5m from
right end. Determine the reactions .Also determine Bending Moment,
Normal thrust and Radial shear at 5m from left end.
b) A three hinged parabolic arch of 25 m symmetrical span and rise 5m,
carries a UDL of 25 kN/m on the entire span. Find the reaction at supports. [4]

Part B

L3

A suspension cable having supports at same level has a span of 40m and [10] CO3

maximum dip of 4m. The cable is loaded with UDL of 10kN/m through its
length. Calculate maximum and minimum tension in the cable.Also find length
of the cable

L3

A Cable of span 20m and dip 5m carries a UDL of 20 kN/m over the whole [10] CO3

span. Find Maximum tension in the cable , Minimum tension in the cable and
Length of the cable
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